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I "§ EKEEES ok BEE mAEA B EH M g1z A O | BR#AE | BAIUKE
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= (A (m3) (m3)
| |BaHRES M37.6 53k H13.2 H13.4~H26.3 | H.25 134, 000 81, 000 81, 000
- 19 |ZmameE S42. 4 212 H16.12 H16. 12~H19. 12| H.19 11,740 12,943 12,943
0 |BEHES $43.4 34k H11. 12 H12.1~H25.3 |  H.25 16, 000 10, 900 11, 200
B k=3 161,740 104,843| 105,143
46 | uBAT $35.3 2%k H12. 1 H12.3~H22.3 |  H.22 8,000 5,500 5,500
A B URET
" s 1E% 8, 000 5, 500 5, 500
42 WS $55.1 24k Ha. 12 H5.6~H16.10 |  H.17 15, 200 11,000 11, 000
27 |WERTHESR $40. 4 341%E H3. 8 H3. 8~H6. 3 H.9 11,500 7,000 7,000
WEARH| 47 [WERTTRE $38.4 1% H8. 6 H8. 6~H10. 3 H.14 15,700 9,870 9,870
i 53 | LR TR R BIRIZ H13.3 H1. 4~H16.3 H. 15 7,700 3,800 4,180
B I £3 50, 100 31,670 32,050
& 35 [HAHRr $45. 4 241 H1.3 H1.4~H6. 3 H.9 30, 000 18, 600 18, 600
REHET
B =3 30, 000 18, 600 18, 600
(@& 9m% 249, 840 160,613| 161,293
4 \mBHH $3.7 THIKE RS H17.2 H12.4~H23.3 |  H.22 322,500| 191,800 205,330
mAmH
B =3 322,500| 191,800 205,330
16 |7REET $38.2 63512 () H20. 3 H13.8~H23.3 | H.22 43,350 21, 200 31,000
Iy oz
B =3 43,350 21,200 31,000
. HRETEE $42.5 34k H12.2 H12.4~H16.3 |  H.22 9,000 6,100 6,100
B AT
£ B 1= 9, 000 6,100 6,100
" 20 |1l 8T $43.4 FENE H12.2 H12.4~H19.3 |  H.22 14, 800 10,322 10,322
JIIET
B E+3 14,800 10,322 10,322
| |@Emn 4mE 389,650 | 229,422 | 252,752
12 |gspEd $28.4 54k H12. 4 H12.4~H23.3 |  H.22 205,500| 125,000 125,000
SREET™
B E+3 205,500| 125,000 125,000
15 (&1L $40. 10 41 H13.1 H12.2~H14.5 |  H.17 47, 500 37, 300 37, 300
BT | 25 |l $49.8 24k H3.9 H2. 4~H7.3 H.13 8, 600 7,000 7,000
B pE£3 56, 100 44, 300 44,300
B | eseEn R E S 261, 600 169,300] 169, 300
INE 1652 901,090| 559,335 583,345
- 3 | H18. 1 Bl H18. 1 H18. 1~H23.3 | H.22 317,400 243,810 251, 644
B =3 317,400 243,810 251,644
INE =3 317,400 243,810 251,644
B FE-£3 1,218,490 803,145 834,989
5 |REHLE 1.7 8417 H16. 10 H16.11~H26.3|  H.25 58, 460 37, 140 37,520
[ - 40 |RFEHFE $54.6 BRI Z H16. 10 HI7.4~H31.3 |  H.30 10, 740 9,520 11, 880
1F
= 45 |FEHFL $60. 4 1% H18.3 H18.9~H21.4 |  H.30 7,450 4,340 4,484
& B kE£3 76, 650 51, 000 53, 884
rL-\ﬂu
B 18 |@3EH $40.2 43 H13.2 H13.4~H23.3 |  H.22 93, 000 50, 000 53, 227
&R
I
B =3 93, 000 50, 000 53,227
INE I £ 3 169,650  101,000[ 107,111
B I £ 3 169,650  101,000[ 107,111
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mw |8 8 % 2 7 HE#K | HE—-B | HE—H
1 ;"g "§ EREFES #kBasA 24 mAZA FxHMm gi= A 0 | BAKKE | BXIUKE
&% s % A =R
il (A (m3) (m3)
8 |HaBR H17. 1 FIES H17. 1 H17.1~H23.3 | H.22 193, 500 124,700 138,846
FABR T
" B 1= 193, 500 124,700 138,846
N
43 | S HT S57.4 2%k H18. 1 H18.1~H18.3 |  H.31 16, 300 8, 660 10, 460
2T
B 1= 16, 300 8, 660 10, 460
Bx
48 |BAF0AT $62.5 145 H16.3 H13.4~H23.3 | H.27 25, 500 14,300 14,300
i B AN ET
B 1= 25, 500 14, 300 14, 300
INE RE-£ 3 235, 300 147,660 163,606
9 |pem H17. 11 FIES H17. 11 H17.11~H37.3|  H.37 142,196 96, 720 96, 720
REmH
B 1= 142,196 96, 720 96, 720
L 37 | E4HET $52. 1 HE1Z H16.3 H16.4~H17.3 |  H.27 16, 400 9,550 9,550
EHET
B B 1= 16, 400 9,550 9, 550
o) 36 |R{RELET $50. 3 HE1Z $62.8 $62.10~H63.3|  H.7 12,700 5,100 5,100
F{FEAET
B 1= 12,700 5,100 5,100
=+
s 2 |BREW T14.10 63k $57.3 857. 4~H3. 3 H.2 26, 000 43, 000 43, 000
BWH
m =
= 5 1= 26, 000 43,000 43,000
24 |HEH $43. 11 34k H18. 2 H18. 3~H28. 3 H27 56, 300 31, 200 43,700
EmET
B 1= 56, 300 31, 200 43,700
INE 5% 253, 596 185,570| 198,070
- 14 |BEH $37.4 14522 H15.3 H15.4~H28.3 |  H.27 17,500 20, 000 20, 000
@ EEW
1] ™ B 1= 17,500 20, 000 20, 000
i 7 |42deEr $24.10 Rk H18.4 H18.4~H28.3 |  H.27 15,370 11,580 13,100
f2ALET
B 1= 15,370 11,580 13,100
INE bE £ 3 32,870 31,580 33,100
6 |REHH S11.11 Itk H18.9 H18.7~H28.3 | H.28 13,340 8,310 8,310
B
Al B 1= 13,340 8,310 8,310
55 |f;EHT H14.4 145 H13.3 H13.4~H18.3 |  H.22 9,760 5, 800 5, 800
;R
B k53 9,760 5, 800 5, 800
3]
32 |42 EHT $55. 6 2%k H16. 11 H16.11~H24.3|  H.23 13,010 7,554 7,850
fCEHT
B 1= 13,010 7,554 7,850
INgt RE-E 3 36,110 21, 664 21, 960
5 KE=+3 557,876 386,474| 416,736
as V3 1,946,016/ 1,290,619| 1,358, 836
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mw | § | brusxs 5 K ® K = HERK | HE-R
P4 & gn | mak | gk | maE | ®HE | Bk BEEEUEK B K 2 |wkuga| X O |BxikE
= (mEER | BkE | FAE A | m3)
| |mamas 10,000] 48,500 22,500
19 |mamsE 543 12, 400
XA
30 |EETES 2,900 8,300
5 RE £ 3,443 10,000 48,500 12,400 30, 800
46 | A B uBET 5, 500
A E RET
i E 1H% 5, 500
42 | EARTES 11,000
27 [WiERTHER 7,000
VAT 47 |V RTAR 9,120 750
it 53 |V R TTEER 4,180
5 aEE 20,120 7,750 4,180
& 35 |manT 18, 600
REHET
5 1H% 18, 600
@a 9EE 3,443 10,000 87,220 20,150 4,180 36, 300
4 |mEm® 112,830 1,500 91,000
mAmT
5 1H% 112,830 1,500 91,000
16 [JREFET 3,000 21,400 6, 600
5 o
5 1H% 3,000 21,400 6, 600
21 g EaT 2,000 700 3,400
&R E
Ed B 1EE 2,000 700 3,400
20 |)gaT 922 9, 400
Iy
5 1H% 922 9, 400
| |memn e 922 | 117,830 | 23,600 110, 400
12 | 900 94, 500 29, 600
R
5 1H% 900 94, 500 29, 600
15 @I &L 37,300
BIUT | 25 | ILUTHES 7,000
5 PE £5 44,300
@ | e 3Eg 900 44,300] 94,500 29, 600
B 168 % 4,343 10,922 249,350 138,250 4,180 176,300
o | 1A 38,012 32,0000 26,910 4,522 149,300 4 |zEmmia 660
5 1H% 38,912| 32,000 26,910 4522 149, 300 660
INE EFS 38,912| 32,000 26,910 4522 149, 300 660
3 17E% 43,255 42,022 276,260 142,772] 4,180 325, 600 660
5 |FEHLS 500 802| 19,018 17,200
i Q0 |pEEEE 5,610 220 3,200 2,850
HREN
i 45 | PR HFEL 913 671 2,900
B 5 3mx| 1413 6 281 802| 19,238| 3 200 22,950
el BEILD 100
rA_?Iu
i 18 |& 3 37,702| 15,525 5 |wzmsa 3
&R
I
5 1m%| 37,702 15,525 103
g agx| 30,115 21,806 802| 19,238] 3 200 22,950 103
3 4| 30,115 21,806 802| 19,238] 3200 22,950 103
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mlwl T | A f ® - B B A B Kk & B R (mi H) k- AEREESEK X
mw | § | brusxs 5 K ® K = HERK | HE-R
2|2 & gn | mak | gk | maE | ®HE | Bk BEELUTK 3 2 |wkuga| X O |BxikE
i ks | SkE | ZkE W | md)
8 W 2,346| 10,000 50,500 500 75,5000 & |S&AT 74 22
HABRT
" E 1H% 2,346| 10,000 50,500 500 75,500 74 2
N
43 |s5ar 630 3,780 6, 050
Z ST
E 1H% 630 3,780 6, 050
B
48 |Baz08T 11,500 2,800
i BA AN ET
E 1H% 11,500 2,800
INE RE £ 2,976| 10,000 54,280 12,000 84, 350 74 22
9 |pom 10,000] 49, 420 37,300
HEH
E 1H% 10,000] 49, 420 37,300
L A 9, 050 500
EHET
a8 E 1H% 9, 050 500
o 36 | R ET 5,100
A {REET
E 1H% 5,100
o) #HEEK 375
=
& 2 |BmH 30,000 13,0000 4 |m&&Ek 6, 940
BHH
5 |EsfmEk 1,310
rA_ =
. 8 1H% 30,000 13,000 8, 625
24 | pE 43,700
EmET
E 1H% 43,700
INE sEE 10,000 93,570 94, 500 8. 625
s | BT 10,000 10,000
-
i B 1E% 10,000 10, 000
" 7 |#2dear 13,100
f2LaT
E 1H% 13,100
INE PE £5 10,000 23,100
6 |seEm 725 2,080 5,505
ST
Bl E 1H% 725 2,080 5,505
55 |58 5,800
#3RET
E 1H% 5,800
|
32 |2 7,850
fCEHT
E 1H% 7,850
B RE £ 8,575| 2,080 11,305
3 1385 11,551| 32,080| 182,255 12,000 178, 850 74| 8 647
an 34mz| 39,115| 76,612 75,804| 477,753 157,972| 4 180 527, 400 74| 9,410
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